Sampling of households by aimag and the capital, 1989, 2000

Total number Selected Total Selected
of Step Household number number of Step Household number
households households
households households
P1989 P1989 10 start end P2000 P2000 9.09090909 start end
Total 427834 42783 541149 59526
Arkhangai 19063 1906 1 1905 24396 2684 1 2684
Bayan-ulgii 17339 1734 1906 3640 19270 2120 2685 4803
Bayankhongor 16104 1610 3641 5250 20630 2269 4804 7073
Bulgan 11652 1165 5251 6416 15427 1697 7074 8770
Govi-Altai 12467 1247 6417 7662 14796 1628 8771 10397
Dornogovi 12359 1236- 7663 8898 12111 1332 10398 11729
Dornod 17463 1746 8899 10644 17215 1894 11730 13623
Dundqovi 10330 1033 10645 11677 12276 1350 13624 14973
Zavkhan 18382 1838 11678 13516 21605 2377 14974 17350
Uvurkhangai 21431 2143 13517 15659 26896 2959 17351 20308
Umnugovi 9539 954 15660 16613. 11633 1280 20309 21588
Sukhbaatar 17921 1792 16614 18405 12780 1406 21589 22994
Selenge 10221 1022 18406 19427 22814 2510 22995 25503
Tuv 21712 2171 19428 21598 23638 2600 25504 28104
Uvs 17676 1768 21599 23366 20307 2234 28105 30337
Khovd 15109 1511 23367 24877 18146 1996 30338 32333
Khuvsgul 23159 2316 24878 27192 28692 3156 32334 35490
Khentii 16636 1664 27193 28856 17469 1922 35491 37411
Darkhan 18183 1818 28857 30674 19489 2144 37412 39555
Ulaanbaatar 108131 10813 30675 41487 161273 17740 39556 57295
Orkhan 12957 1296 41488 42783 17332 1907 57296 59201
Govi-sumber - 2954 325 59202 59526
42783 59526
1.P1989o =P 1989 /100*10 =42783 1 P2000=p 2000/100*11 =59526
2.Step 1989~ P198o/p1989 =10 | Step 2000~ P2000/ P2000 =9.09090909

First household number 8 6



